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ENGLISH LANGUAGE
6. ‘R T JETAR BT W § 9 d
L ;Td the correctly spelt word : (A) e (B) A
: Enemity TEged D) ufit=déE L
(B) Postphone (© - &
(C) Ninty 7 gefteret T A EE B § 7
(D) Normalcy ; (A) EFTE (B) ?’ﬂ"l : h
2. Fill in the blank with appropriate (c) o
preposition : 8 FefafEg§2 wE 98 gaa A8 #
He ""_"“'-'Id fly the door with wE ey 999 BN ; >
thf-‘lﬂlﬂﬂ precipitation. (A) e (B) frem=
A) from : qIET
(®) to o R i
(C) through . CHewve dEE wr eI &7
(D) across www.kushmanda.com r a) 4B) wEE
3. Choose the word that best expresses i i
the meaning of the underlined word : 10. srusR o HEl fasm e w g 2
The honeymoon period for the new (A) faw (B) Fewam
Bovernment is over. [;:] T (D) SfFamT
(A) inexperience )
(C) confidence {A) = (8) G
D) grace ST T (D) armE

4. Select the substitution that best
expresses opposite meaning of the

2. ® F owdw Wt w afew ant
TR ™ w2

underlined word : (8) ==
;-:; smches were [nsipid. (€) i h:‘::; LE—
rmative

B} insightful e H'{Mﬂ?mmﬁmrq?rmmh
© I AA) HEFT (B) =ity
(D) shocking ik (©) Fore
Choose an alternative which can " ?Tﬁ:‘?‘qﬁ#m g
replace the given words or sentence (B) by
S0 as to communicate the same .}E]] E:I:;q;m
meaning : e
A person who has unusual or ©) mﬁ““
remarkable abilities, | 15. ¥ V= W u

frek (B) marvel W Wk
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46. In which one of the following states
prime Minister launched the ‘Pradhan
Mantri Ujjwala Yojana' on May 1,
2016 7
(A} Madhya Pradesh
(B) Uttar Pradesh

JC) Gujarat
(D) Nene of these

17. Which one of the following describes
water as a resource 7

(A) Abiatic Resource

(B) Biotic Resource

(C) Non-renewable Resources
B Cyclic Resource

18. Where s  Kaziranga Wildlife
sanctuary situated ?
(A) North Sikkim
(8] Assam
(C) Rajasthan
(D) West Bengal (India)

“19 Which of the following was 3
L..ff ecommendation  of  Hunters
Commission ?
(A) Introduction of civic education
at college and university level
,!,B] new  regulation  for the
organized senates system
(C) Gradual withdrawal of state
support from higher education

(D) Women's education

20, Parliamentary form of government
first evolved in

(A) The United States
(8) Rome
(C) Greece
p) Britain

16. Pr=fafes § 4 e v & o R 3
1 wE, 2016 # ‘WA T oo g

-qsr-@;mﬁm'r
(A) WEUHEE
(B) SER WA

(C) TR
(D) & A g

 Prefafaa ¥ § @ W B HEE §
" ¥ e e 7
(A) e R

I_B] HHH
(C) TrorEaT
(D) ufPem dwe ()

10, Preffmn ¥ @ o & RwRy &=

T @ At 7

(A) e e ZPEtEd wR W ATRE
e = wivE

(B) @faw e woreh & fAg
fafras

(C) wem fnerer & Trow wETHE A W
BCanl

(D) i fmen

20, TIGR & HELY WIHEY B WUH TR WY
£

(A) TS RTHY
(B) Y™ #

(€) Tu#
(D) fesi®
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29,

31.

32.

KUSHMANDA IAS HCS ACADEMY(REGD)
OPP IB COLLEGE, GT ROAD PANIPAT

HELPL.ALag.akcushlog.Qg_omQF%m |
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'y,
(&) 12B (B) 126
(C) 14620 (D) 434
fay ™
o) (3] e
(A) 1.5 (8] a5
© 75 (D) 95

A dog takes 3 leaps for every 5 leaps
of hare. If one leap of the dog Is
equal to 3 leaps of the hare, the ratio
of the speed of the dog to that of the
hare is

(A) 4:5 (8) 9:5

(C) 8:5 (D) 9:2

Which is the largest living bird on
Earth 7 |

(A) Emu 48] Ostrich

{C} Albatross (D) Siberian Crane

Which part becomes madified as the
tusk of elephant 7

(4) Canine (B) Premolar
J€) Second incisor (D) Molar

The phenomenaon of light associated
w|;. the appearance of blue colour
of the sky Is

(A) Interference 8] Reflection
(C) Refraction (D) Scattering

The element which is used for
vulcanizing rubber
(A) Sulphur
(C) Silicon

(B) Bromine
(D) Phosphorus

sound waves with frequency greater
than 20000 Hz Is

(A) Sonic 8] Ultrasonic
(C) Infrasonic (D) Subsonic

2B, V' xVx72x¥'x7 W AHE. T

oy |
A) 128

C) 14620 iau!) i

o (" e

b
(A) 1.5 {8) 45
€y 7.5 (D) 9.5

30. 7w I R @ e o g R

vt g e & | o o g e
H g B N AP A e ™
firron Y T & R B

(A) 4:5 (8) 9:5

(C} 8:5 (D) 8:2

31, et Uy Premeres ot waft st e

(A) w7 (8) T
() wEAg (D) ERTaTE wRa
37, @t o Eeh % oy & 6 W aTe
g7
(A) ETm (B) e
(C) gEaFEn (D) v
33. mﬁwﬂmhmﬁ#tmm
wreprer ) it &
(A) =fRETo (B) TRTEES
(C) smEd (D) W=
34, ) TEHha BT o A B
(A) HEHY (B) #0fA
(c) Fafermt (D) wiesRH

35, 20000 Hz ¥ wiftres e 9 efy oo
o 1 HE & 7
(A) e
(C) o=

(B) WS
(D) sty
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36. Which cricket player is assoclated 36.

with Pataudi town ? w7
(A) Kapil Dev (A) wfte 3
{B) Nawab Mansoor All (8) e HEE S
{C) Virendra Sehwag FqEaT
(D) Ajay Ratra (€) &=
(D) 3rora AT
37. Who founded the Haryana Vikas
Party ? 37, quﬁaﬂwﬁﬁ*“ﬂ?
kdA] Bansi Lal (A) e (B)
#(8) Devi Lal (D) TR
(C) Bhajan Lal (C) worTETe
(D) Bhagwat Dayal
38. The construction of fort in Gohana i
was done by which King ? VA) e
(A) Akbar (B) Bwe=
(B) Hemchandra (C) =¥
AC) Harshvardhan (D) gedirwr dtEE

(D) Prithviraj Chauhan

39. Pt Jasraj, the classical musician, was 39. 4. s, wei wias B T wEl

born in gan7
(A) Mathura (B} Vrindavan (A) =T (B) T=mE+
_{€) Kashi (D) Hisar (C) wreft (D) fEwEm
40. Ratnavali is well-known creation of
R i 40. I=EE EuH afeE v R 7
(B) Banabhatta (A) rade (8) =g
(C) Madhavacharya (C) smearemt (D) =4
(D) Harsha
41. From where, Sir Chhotu Ram obtain his = E,, b bhatio hah Lo
Law Education ?
(A) Agra College Y, st
) Meerut University (8) #we Rrvafderer
C) Peshawar University (C) Home Rreafumer
(D) Jaipur University (D) v Rreafirarery

42. The Sheikh Chill's tomb is situated

42. I fRreelt w1 WA BR ¥ Py 4 @)
frammwRme,
(A) i (B) wirfia
(C) wrree (0) &
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58 What Is the sauthern-most Ilﬂtud. of
. maintand of india ?

A) 37° a' N latitude
(8) 8°4 S latitude
(c) 8°6'5 latitude
(D) 8°4'N latitude

g9. Which one of the following s a land-
" |ocked State ?
(A) Gujarat (B) Odisha
(C) West Bengal (D) Bihar

g0. Who was the President of the
" Constituent Assembly ?
() Jawaharlal Nehru
(8) Dr. Rajendra Prasad
() Dr.B.R. Ambedkar
(D) Dr. Radhakrishnan

§1. In which year were the Indian states
reorganised on 2 linguistic basis ?
(A) 1947 (B) 1851
(C) 1952 B} 1956

62. In which year did India become 2

member of the International
Monetary Fund (IMF) ?

(A) 1945 (B) 1950

() 1951 (D) 1952

63. Which authority lssues one-fupee
] notes and one-rupee coins 7

(A) The Reserve Bank of lgdla

(B) The State Bank of India
_{e) The Finance Ministry

(D) The president

here in the
many spokes aré t
- mW{M]dMNMF|BG7

24
(A) 12 S
(c) 30 (D) 16

58. mﬂwmummn
&7
(A) 8T8 N ST
(B) B°4 & Y
(C) &°8 & &
(D) 8eaN T

59. ﬁwﬁﬁmmwwmh

(A) TR (8) #fEm
(c) wemdmE (D) farsT

60. ﬂﬁmﬂmmmmmq

61. -qmﬁumw‘iaﬁmmﬁmﬁﬂ?"ﬂ“

farq od P TR AN 7
(A) 1947 (B) 1951
(C) 1952 By 1956
g2, (e ol § AT ST T I (MP)
1 UH Ga w7
(a) 1945 (8) 1280
(C) 1951 (D) 1052

o e e e 2
(A) s o 4%
(B) e e ¥E
(c) fomr HARH
(D) TR
64, TR UENY EO & T ¥ fr aR
%1
s w1 e
(©) 30 (D) 16
g5, TR U we @ e afe wag |
) S E 7
(A) 1:2 (B) 1:4
(C) 2:5 (D) 2:3
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66. In which General Election was the
ballot paper introduced in India ?
{A) 1958 i8] 1962
ﬂ_{J:]' 1969 (D) 1977

67. In which language was the country's
flrst vernacular newspaper published

in 1818 7
[A) Gujarati
(C) Marathi

(8) Bengali
(D) Urdu

68. Who was appainted as the first Law
Minister of Independent Indla 7
{A) Dr, John Mathai
(B) Rafi Ahmed Kidwal
{C) Dr. B.R. Ambedkar
(D) N.V. Gadgil

69. When did the Maharaja of Kashmir
signed the Instrument of Accession
with the Government of india ?

(A) August 15, 1947

(B) September 1, 1947
_{€] October 26, 1947

(D) Octaber 18, 1947

70. When was an atom
on Hiroshima ? b
J4A) August 6, 1945
(B) August 8, 1942
gl.'l August 9, 1945
D) August 9, 1944

L In which year did Britain i
_ reco
the independence of America ? i
(A) 1775 «(B) 1783
(C) 1789 (D) 1813

Which imaginary line |
oins th
having equal rainfaj| > ko

AA) Isobar ':E}
Name the ore
sextracteq | 1D duminium
(A) Bauxite u8 Alum

(C) Galena

66.

67.

70.

71,

L
(A} 1956 (B) 1962

(C) 1969 (D) 1977
1818 # % W 7 W W e deny
AT} FHTAT T WaTTereT i uy 9

(A) TR (B) et
(C) werdt (D) =%

WHA WG T uYEen 7=
Prage gait e 7 TV
(A) BT i wurE

(B) ot argwy fvead

(C) =419, aiesw

(D) .4 el

AT YT & W SN 3 e &
TERIET T fer.oy TRy
fear a7 o

(A) 3% 15, 1947

(B) Ry=w1, 1847

(C) gy 28, 1947

(D) ¥gaT 18, 1047

f&?‘rﬂmﬁmmmﬁmﬂmm?
(A) 3T B, 1045
(B) armws, 1942
(C) =79, 1045
(D) st g, 1944
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80. When it Is 3 pm at Greenwich, what
will be the time at a place situated at
45" east longitude ?
(A) 12 noon
.IB) 6pm
(C) 4 pm
(D) 12 midnight

81. Indian test team captain Virat Kohll
become the first Indian captain to
score a double century outside India
playing against

AA) England
(B) Zimbabwe

81.

(C) West indies

(D) South Africa

82. Who is the newly elected Prime
Minister of Nepal ?
(A) Baburam Bhattarai
B} Khil Raj Regmi
(C) Pushpa Kamal Dahal
(D) Khadga Prasad Oli

83. The govt. has set an inflation target of
what per cent for the next five years ?
(A) 3 percent
(B) 4 percent
(C) 5 percent
D) 6 per cent

B4. The Parliament passed the GST Bill
" recently. This Is constitutional
amendment Bill,
(A) 121% (8) 122™
(C) 123" (D) 124"

85. Who becomes the First Indian Woman
Member of International Olympic
Committee on 4" August, 2016 ?

(a) Medha Patekar
+{B) Nita Ambani

(C) Maneka Gandhi

(D) Asha Parekh

4

85.

uﬁmﬁﬂﬂ?mﬁﬂmf‘““@‘{ﬁ
WW%WWWWM7
(A) 12 *erE=

(B) 6pm

(C) 4pm

(D) 12 wegafy

e e AW % FEE e SEd

P A1 % frog Qo §Y 9RG & ATEY
2EV AT T A T AR

HET T 7

(A) €wve

(B) Rymm=

(C} A= gs
(D) T swteT

¥ure & o Pt e =t s 8 2

(A) TR WERE
(8) fas o e
(C) 9o &HHA TEd
(D) @Ew warE et

WER 3 I Uty a6t % faw e
wierr @1 qEreeii s Feaffe fea
-2

(A) 3wfree (B) 4 witrera
(C) & wicrer (D) & wRrera

W 3 B & ¥ of v A (@sT) R
uiE fmn 198 S geies
s g

(A) 12191 (B) 122di

(C) 12adi (D) 1247

4 TR, 2018 W) IR AT

:rgﬂrﬂmm-mmm
?

(A) FEmurEsY

(B) e ap=rht

(C) ¥ met

(D) e AR

i d
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Choose the most
sequence from 3
alternatives provided
question.

Travel
Destination
Payment
Berth/Seat number
Reservation -

Availabllity of
reservation berth/seat for

A) 6,2,54,3,1 (B) 5,3
}C} 2, 6,35 4- 1 lng 1-; 2: g: ‘1;: g' g
Arrange the given words in

alphabetical order and choose
that comes in the second pnﬁt}g:.& e

(A) Apology (B) Branch
(C) Antigen {D} Antique
Choose the correct alternative.
Oxygen : Burn : : Carbon dioxide : ?
(A) Isolate (B) Foam
[€) Extinguish (D) Explode

In the following four words, three
are alike in some manner and the
fourth one is different. Choose out
odd one.

(B) Iris

(A) Pupil
(C) Cornea '_j,BJ,I Medulla

Choose the missing term out of the
given alternatives.
ejo tyd ins xch ? _
(A) nrw IB) mrw

(C) msx (D) nsx

Due to reduction of 25% in price of

oranges a customer can epurchase 4
oranges more for ¥ 16. What is
original price of an orange?

(a) T1 (B8) ¥1.33

(C) T1.5 (D) T16

The average age of 30 students is 9
years. If the age of their teacher is
included, it becomes 10 years. The
age of the teacher (in years) is

(A) 27 (8) 31

(C) 35 D) 40

Find the la number which
divides 62, 132 w"ﬂ% leave
the same reminder.
(B) 32
) 45

3Ppropriate
below :::

e

(A) 30
(C) 35 (D) 4

86. M frg o Rreedt 4 @ it sugw
o w1 e Fiftrg

1. 49w

2. e

3. g

4. w/dE daw

5.  HEM

6. amarr & fyg wd e o wraen

(A) 6,2,5,4,3,1 (B) 5,3,4,1,6,2

(C) 2,6,3,5,4,1 (D) 1,2,5,4,3,6
87. faw 7w Wl afRg

89. Pr=fafae R el & fiw el wreg
% gerer & aan o free & | o e

e T 999 HIfAg |
(B) smEfs

(A) u;ﬁm
(C) =an (D) ¥gam

90. Ry mAz=iiAgama
g -8

|
ejo tyd ins xch ?
(A) nrw [B_‘ mrw
(C) msx (D) nsx

91, W ¥ T A 26% TR B ¥ HRw
UE UTES T 16 ¥ 4 g e wde

FHAOE I AR B e sea T 7
(A) T1 F 133
(C) T15 D) T16

92, 30 Renfimi Y v sRowi & | ofy
I e 91 o g it & Wi
ot g alvea 10 o8 B o & ) e
sHagi A g

27 B) 31

13 35 in‘ 40
93, T ¥ A W wem wraw Hfdrg ot 62,
132 3iw 237 # R = &) ww e

b ik !

(B) 32

A) 30
C) 35 (D) 45
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o () et

fa -l I.'h'ﬁlr_;
. o [f_ﬂ] =5 , then the value 94, b a
3 |
of x lsI " e
(A 2 (8) 1 7
: (€ 2 D) 2
Jm 2 (D) E ‘
. 95. Wﬁgﬂwqﬁﬁaﬁqﬂaﬂ&ﬁm

‘98, An electric pump can fill a tank in 3
' hours. Because of a leak in the
tank, it took 3 hours 30 min to fill

A & 99 o A g EHE
& 29 4 e B —

& Zm & T
a0 fie & | S et

(C) Have some more part of it

the tank. In what time the leak can fper T & ATEY 98
drain out all the water of the tank el 8 ot ? 3
and will make tank empty? (A) 106E (8) 13%¢
(A) 10 hours (B) 13 hours (c) 174 (D) 21°%e
(C) 17 hours (D) 21 hours
96. Wright Brothers are regarded as 96. ‘vige¥Y W AH Rt o & e &2
inventors of the (A) ¥ (B) wrafa
(A) Balloon {B) Bicycle
. AC) Aeroplane (D) None of these (C) . srgam (D) ﬁiﬂﬂﬁqﬂ
97. A body is floating in water at 4 °C, If 97. wRrswwH4°C W v & ) oY
temperature reaches 100 °C, then AT 100 °C B 97 ) 98 fve
the body will (A) e g& s |
A) Sink fully :
(8) Float freely (B) ¥R Y & VT IR |

(C) TH® TO 3R WM FHerwT B S0 |

submerged under water (D) ::":ﬂ uf 4 w1 oRads
|

(D) Have no change in its position

98. Which of the following gases in air
unites with manymetagrsg? i mﬁgﬁﬂm#mm
(A) Hydrogen (A) ETESIoH
(B) Oxygen (B) airerdror
.,[fg; 3: l:;lmdl d -2
thon diowide (D) i ErEiES
89. Which organ is affected by Trachoma ? 99. & gRT Pt o
JA) Liver (B) ?res m'*‘ i
(¢) Brain (D) None of these (A) (8) 7=
100. The human cell contains & (D) 7 Qg vl
(A) 44-chromosomes 100, A P B &
j::i 48-chromosomes @) :
e bl 4-pErEm (g) 48-Frrey i

(C) 46-mWM (D) 23w J
'S





